Ri\Clients\HM Sure Rock PERMANENT\A - Florida Product Approvals\FL-20474\C - Drawings\FL-20474 (2014)\FL-20474.4-6.dwg, FL-20474.4

Sure Pock

Works

(O

Fiberglass

SURE ROCK

GLAZED FIBERGLASS ENTRY DOORS

INSWING / OUTSWING
"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the éth Edition {2017)
Florida Building Code (FBC) structural requirements excluding the "High Velocity
Hurricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debris protection, this product is
required to be protected with an impact resistant covering that complies with
FBC Sections 1609.1.2 & R301.2.1.2.

For 2x stud framing construction, anchoring of these units shall be the same as
that shown for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further
engineering analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET # | DESCRIPTION

Typical Elevations, Design Pressures & General Notes
Door Panel Details

Horizontal & Vertical Cross Sections (2X Buck)
Horizontal & Vertical Cross Sections {1X Buck)
Horizontal & Vertical Cross Sections (Direct to Masonry)
Vertical Cross Sections (Thresholds)

Buck & Frame Anchoring

Bill of Materials & Components

(N[O, [N —

37.75" MAX. O.A.
FRAME WIDTH

——— 81.75" MAX. O.A. FRAME HEIGHT {INSWING)
81" MAX. O.A. FRAME HEIGHT (OUTSWING)

Va

PRODUCT:

n
o
0
)
o™
z
= 4
Lo
[72 I
2382
L2
_xgtng
3 )
fé)-,'?.
Cw 0
6m®z
O N -
] o x2<
= z Q020
Eo =My
< a cuw
53 2500
[0 D Lom
< 1 I AN A I TR
Ll-'
) g
C
5z
o .
cu
2 ag
%)
=
=2
2 | 85
I®) <
S8 =G
0 =
oy = b
crg)) 5;0
gl = R
o =
i §7 R
Holn| o
2 14 <X
T | S2
o%ﬁ
E -
Eoa
o

BY

8/03/17 |UPDATE TO 6TH ED. (2017) FBC |LFS

-

REVISIONS

NO.| DATE

oaTE: 5/17/16

H y //
]/
MAX. DESIGN PRESSURE (PSF) | DESIGN PRESSURE (PSF)
CONFIGURATION FRAME INSWING OUTSWING
DIMENSION POSITIVE | NEGATIVE | POSIIVE | NEGATIVE
X 37.75"x 81.75" | +45,0 -45.0 +45.0 -45.0

ScALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-20474.4

sHeer ] oF 8

© zo16 R.W. BuiLbing ConsuLTanTs InG.



RAClients\HM Sure Rock PERMANENT\A - Florida Product Approvals\FL-20474\C - Drawings\FL-20474 (2014)\FL-20474.4-6.dwg, 2.1

HINGE STILE
(LVL)

20.88"D.L.O.

35.75" MAX.
DOOR
PANEL WIDTH

WIDTH

&

/1
Va
/

(1
\2/

79" MAX. DOOR PANEL HEIGHT
62.88" D.L.O. HEIGHT

®

—*l '—:'— 5.5 <

1275'0.C.
(TYP.)

D

@ DOOR PANEL

FIBERGLASS DOOR SKIN: MIN. 0.080" THK.

CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.)

37.5"

EXTERIOR

1
i
A\Y

A\Y

05" *] F'] 35" =l 135" »1
L

INTERIOR

POLYESTER RESIN

12.5" LONG

/"1 "\ HORIZONTAL CROSS SECTION

LOCK BLOCK
12.5'LONG
(LVL)

\2/

| | SEE HARDWARE
/ CHART

——
3

2381"FRAME __
WIDTH
(ﬁ T |- 3.25" (TYP))
o
— &
LN
o
= 5
= )
w0 i
9 i g
iid
=
<
x
' %
8
1-1/2" PPH
PLASCREW

LITE FRAME

LATCH STILE

(LVL)

POLYESTER
RESIN

PVC CAP

:H L* 0.12"
0.30"

1/2" GLASS BITE ] =

1-1/2" PPH PLASCREW

1" OVERALL GLASS THK.
Dl /8" TEMPERED GLASS

1.

- AR SPACE

!

HM SURE ROCK

=~ 1/8" TEMPERED GLASS

ALUMINUM SPACER
NON-STRUCTURAL
BACKBEDDING SEALANT PVC LITE FRAME
(HOT-MELT)

GLAZING DETAIL

P 1.48" =
]

% f:'\') 7= =‘
PVC LITE FRAME

WIKSET KNOB: Signature Series

K DEADBOLT: Signature Series (980)
KNOB: F Series (F51)

SCHIAGE | peapBOLT: B Series (BSON)

|t 1,75 ]
POLYESTER
RESIN
TOP RAIL
(LvL)
FOAM CORE
EXTERIOR ) INTERIOR
DOOR SKIN —
5 |
S B
BOTIOM RAIL—| i -
(LVL) f
POLYESTER
RESIN
7”2\ VERTICAL CROSS SECTION

\2/

\\

Dbo '.. \\
P

MY

NAL
mmu
INC

BUILDING CONSULTANTS,

/i
1 ,?'

(4

”
)

P @ .
T
R

P.0. Box 230, Vairico, FL 33595

Documents Prepared By:
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

813.659.9197

FBPE C.A. No. 9813

SURE ROCK

FIBERGLASS DOORS
DOOR PANEL DETAILS

PART OR ASSEMBLY:

PRODUCT:

8/03/17 |UPDATE TO 6TH ED. (2017) FBC |LFS

1

NOJ DATE

REVISIONS

oaTE: 5/17/16

SCALE  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-20474.4

SHEET 2 oF 8

© 2016 R.W. BuiLDING CONSULTANTS INC.



ONG SANVLIINSNOD SNIaIng

‘MY SLOZ g

>\
. o
I
. o
v )
A [a%4
<
| -
v zl 3B
) NAS g R
vy
< Cg
Hie
v . SW
Q Iin
oa v Sm‘
9 Ol
v i ~ RW
v q - CO
@ Mm
i ol
=z
Y < ela
v v wis
: >0
© S
L
(=) &
(AR}
| LY V
0|®
Ll o ~ .
R
SN
- )
! X
o
//1/

CPSHSY

€186 'ON 'v'O 3dg4 SNOISIAIY
L6L6°6S9°CLE "ON 8uoyd (»ong xz) SNOILO3S SS0¥0 & 50 ToN] <
§6SeL 14 ‘O9MIoA ‘O£z xo8 'O'd \§ TWOLLAIA % TVINOZIHOH S41| 084 (Z10z) 03 HI9 Ol divddn| Zi/co/s | &t |<|u|X|L] ¥ 8*
"ONI ‘SINVLINSNOD ONIGTING g@ KIGN3SSY 80 Lovd = SN
NE RN
///k@ A<ZO\@\¢\ 60¥SY "ON "I'd S¥00d SSY1943814 Ol |Elsle |
S oo SN, wiuuss 4 uopus 300d 34NS Jul®1 212 21
SN0 R 2 — SHEINIERE
-~ . s VPN :Ag poipdald sjuswinoog :12NA0Yd = W Z zlx =
s
- 60vEY ON &
\\\ -'.o ,-.. Ihl
Z G &
\ enen Ty
\\\\ 7 srom //I/I
Hippaw
Za
13
5
Lt

/\//
1

®

INTERIOR

RN
& @

/"2 "\ HORIZONTAL CROSS SECTION
W Outswing shown (Inswing similar)

1°€ ‘BMP'9-4 7L 0Z-TINPT0Z) vLv0Z-T4\sBumMeIg - D\pLp0Z-14\s|eAcsddy 19nPOId ePLOId - YVALNINVINYIA 300y 3InS NH\SIUBID\Y



AN SANYLAINENGT aNIgTInNg

M gLaeg H

€186 "ON V'O Idg94 SNOISINTY
momres et | g | IO Te o] 3|
SBSEE M4 ‘OOWIPA ‘0CZ xog ‘O'd § S471 084 (£10zZ) ‘a3 HI9 0L 31vadn| Zi1/s0/8 | | N ZIES vl M.
"ONI ‘SINVLINSNOD ONIGTING \&y KTANISSY 90 19vd N Lol B el BN B
NE R
60%CH "ON I'd SH00d SSvY194341d 0 Elgle !
IPILYDS "4 UOPUAT X00¥ 3dnS MEIRIM e
% W% kg peindely sjuswinooq :12NA0¥d W w I m %
3 < /Sp
3 overoN ;3 M\
\\ o»o -o. >
\\ aoo o, ,,
%G S
“1, WHoS R\
LU
Zao
e
e
L

274

. /‘

& ® 3

=z S|

= Ol 5le
=l =
Km /4 £
“als 312
3|2 Ol
OI\ [+4 [+4 Rm

~ S U117 oe & LW

o = = =8
<o = i Nw
Vic Olo
Sk 28
wils =312

o 2R /] 23

D \\@

TII

5 &

il

6

1L
.
\/\

1-1/4" MIN.
EMB. (TYP.)

Tt BMP'O-v b2 40Z-1\KT0Z) vLy0Z-T4\sBumeIg - D\p£p0Z-13\s|er0iddy 1onPOId epLOIS - YAININYNYd X20Y 3inS WH\SIUDIID\Y



TONG SANVIINSNGD aNIaTiing "m'd 91098 (@)

£186 'ON V'O 3d84 SNOISIAZA
L616°6S9°CLR "ON auoyd (AYNOSYW 01 103410) SNOILOIS I SIva TON <
SESCT "4 'OdMIDA ‘OCZ Xog ‘O'd § SS040 WIILMIA % IWINOZINOH S| o84 (Z102) 03 HI9 Ol 3ivaan| Zi/c0/a ]| L © ulx B < 8_
"ONI "SINVLINSNOD SNIAIINg Ky XIGWISSY 90 Lavd NS Sls
/ﬁ;:::::\ N = 53 1a
Sy WNoses, 60bEr ON ‘I'd S¥00Q SSY194361 S glgle O |
////ou JANOT 897, pwues 4 uopus A00d 34NS Sl 0ED s
SN f...&w\\. . Gldle|x|E Nl
-~ . o V) e A8 poibdaud sjuewnoog 19100y d < m W z m z
P g - 4
¥ R N\.\n
fvi  x i 0
e - 60vEY 'ON L~
“ -vo no. ,h'
Z e JoNaO™ oY S
\\\\&Q\-.oocqmm\uVo) ////
““, WHOS W
Hipgnny
Zo
zE
et
—
A\
os
Q /.
g ®
L
T
= \
/4

EXTERIOR

INTERIOR
EXTERIOR

/1" VERTICAL CROSS SECTION
w Outswing shown {inswing similar)

m HORIZONTAL CROSS SECTION
\y Ouftswing shown {inswing similar)

TS BMP -1 vLb0Z-1A\PT02) vLy0Z-1\sBumesa - D\pLy0Z-14\slercsddy 30npoud epliold - VALNINYINYId Y00y 3.1ns WHASIUBID\Y



TONE SANVLATIMNSNOD SNICTHNE "M'yd 9102 @
€1L86 "ON V'O 3d84 SNOISIAIY
L616'6S9°CL8 'ON suoyd mmﬂ%%%%%f&omwmﬁoum AG 31vd_[ON] o <+ 8_
S6SeE 14 "OdMIPA O£z x08 '0'd \§ S31| 084 (£10z) 03 HI9 0L Jivadn|zi/s0/8 ] L |<|4(x|Q| ¥
‘ONI 'SINVIINSNOO ONIGTING Ky N ESS A N I S5
iy, J= RS |
o WNosew, 60vSY “ON “3'd 4000 SSY1943dl S |glgle O
0@...,.“.%&“...%&\\‘“‘ PIULRS *4 wopuiy X008 3¥NS slal812E ey
0&... .... Y% A5 paioderq sjuswnoog :10N00Y8d W W Zl3 m M
- -
1Bz \\Nm\
/.-‘blg
&
. ,/
W

INTERIOR

\\

m VERTICAL CROSS SECTION

\6/ Outswing Threshold

EXTERIOR
O

EXTERIOR

A\

7“1\ VERTICAL CROSS SECTION

w Inswing Threshold

INTERIOR
O

19 BMP'O-b 7L 0Z-T4\BT0Z) bLr0Z-T4\SBUMEIQ - D\p£0Z-14\s|eroiddy 1DNPOid BPUOLS - YALNINVANYId 40y 8inS INH\SIULHD\Y



4" {TYP.) | §
P - 5 .M
R ;..-4‘ ;i‘,d.';"':;s‘f,};;/ i ‘ (_Zi:'\
. __} ;__ e 5 L‘: o
L 1 B _ Sgo,
R ~ ! 55850
E E —_ 3 a > o
1 M= - E W ggeg
*f 2x BUCK £ 3 on
% [\ v B o X 2 g-
FRAME (4 )xsuck i Eg E%o,
T T (TYP-)\ — DIRECTTO =T ‘[ 58 Fos8
HEAD & JAM y W 2 - £l
o BS MASONRY é\\? ° LY Do
JAMBS § £ 2 §
L SR — {TYP.) - § ?;{w E ;
> g § g o 0
<C
== ==
e H oz, O - 1 2O (23
=== o) — O &
PR ¢ o
T . xg 8:)
=L Al - - S8 Z
A ~, m X3
.,‘V;‘i"‘s‘»‘ ‘»v LLJ(J)-) g LIEJ
gy |3 £
= S0 [T
A |4
ol e I
o I
X X S 5
w S | B
2X BUCK ANCHORING FRAME ANCHORING g3 & &
o & ]
L 6
Y
pans o §
- _‘_— — "\\
o
. . S|
I 1l
g B
)
DIRECT TO . g . aiggkg 2
CONCRETE ANCHOR NOTES: MASONRY Og ez
. - [
1. Concrete anchor locations at the comers may be adjusted to maintain the min. ' e 1X BUCK 2 =5 1XBUCK =
edge distance fo mortar joints. . N . @ %—'
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to @l’ o 2X BUCK -] ~ 2X BUCK ~
maintain the min. edge distance to mortar joints, additional concrete anchors 3] EB )\» >
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. 5 o L] ~
3. Concrete anchor table: p= ? - :’ = N Ll
. M
) Sl s@ i
2X BUCK @ i e SIS
— ’ — 1X BUCK . . A 2
T gz:NON‘E’ /4 1-1/4° r & oATE: 5/17/16
‘;mo DIRECTTO o HINGE DETAIL i
" _1/an " n MASONRY 3 SCALE:  N.T.S.
utrRacoN®] Y/ 1-1/4 ! 4 . X owe. B UK
AW el e 1-1/4" r 1-1/2" LATCH AND DEADBOLT STRIKE PLATE DETAILS 1 1 e FS
WOOD SCREW INSTALLATION NOTES: DRAWING NO.:
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of STRIKE JAMB HINGE JAMB FL—-20474.4
wood screws to prevent the splitting of wood. T —— seer 7 oF 8

RAClients\HM Sure Rock PERMANENT\A - Florida Product Approvals\FL-20474\C - Drawings\FL-20474 (2014)\FL-20474.4-6.dwg, 7.1

© 2016 R.W. BuiLDING CONSULTANTS INC.



RAClients\HM Sure Rock PERMANENT\A - Florida Product Approvals\FL-20474\C - Drawings\FL-20474 (2014)\FL.-20474.4-6.dwg, 8.1

BILL OF MATERIALS

ITEM # | DESCRIPTION MATERIAL

A | TXBUCK (SG >= 0.42) WOOD

B | 2XBUCK (3G >= 0.42) WOOD
C | 1/4" MAX. SHIM SPACE -

D | 1/4 X 2-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL

£ | MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI 301 OR CONCRETE

HOLLOW BLOCK CONFORMING TO ASTM C90

G | 3/16" X 3-1/4" PFH TW CONCRETE SCREW STEEL

J_ | 1/4"X 3-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL

L | #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMBEDMENT) STEEL

M | 3/16" X 2-1/4" PFH ITW CONCRETE SCREW STEEL

1| FRAME (SURE JAMB] COMP

6 | WEATHERSTRIP (Q-LON] FOAM

8 | SWEEP VINYL
13| INSWING THRESHOLD ALUM/COMP
14 | OUTSWING THRESHOLD ALUM/COMP
23 | #10 x 3/4" PFH WOOD SCREW STEEL
24 | #10x 1" PFH WOOD SCREW STEEL
25 | #8x2-1/2" PFH WOOD SCREW STEEL
27 | LATCH STRIKE PLATE STEEL
28 | DEADBOLT STRIKE PLATE STEEL
29 | 4'X 4" HINGE STEEL
40 | DOOR PANEL :

0.75"

| 4.8" i

2

( : ) FRAME
Sure Jamb

]

13 INSWING THRESHOLD
ENDURA {Z-SERIES}

I

14 OUTSWING THRESHOLD

ENDURA (Z-SERIES)

n
o
0
Y
oM
Z
£
L E o
" .-
282
2cp?
Sgbd
g.?.
O o
w RN
& oo "
o B o xz<
@ Z z 2 O
§ Eo 3D
\jad €0 oL euw
-« f0 O —OOD.
%&mn oY em
. < Qoo
%ﬁh-‘
€ 5}
$ c
g 67 §
s
g su
o o
W
ad ﬂ(ﬂ
(@) <k
O D:EI
O LUZ
DO:m > ;O
v EEQ
Luﬁ [an) =
o =3 T
o0 il OO0
2 |5
o < =%
[ o x|l @
5]
= o
].,
o
& e
o a:

BY

8/03/17 |UPDATE TO 6TH ED. (2017) FBC |LFS

1

NO.| DATE

REVISIONS

oatE: 5/17/16

scaE: N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-20474.4

SHEET 8 oF 8

© 2016 R.W. BUILDING CONSULTANTS ING.



